Topic:- General Hindi

1) “3MY AR & & T ST 1” 9 9199 DT Yok AT T G
1. 3T WMHER B I S|

2. 31U Y+aR =dd S|

3. 31U MR ! I S|

4, 31U IR B =7dl MY

Correct Answer :-

« 30 IR HI °d o4 |

it T, T, W,
gy Sf¥ruy ARUY 1’ 39 Hfaar F T=HRdar s &2

1. BOIR| TRTG

2. T Furet
3. BRI I §=
4, AgTGdl aAf

Correct Answer :-

« gRAY I g

3) «3Tq IS foar?” 59 a1 &7 Y[ I FT FII?
1. O Hior fopam?



2. 3 HioH P fasam
3, HISH 39+ g
4, 3T Yo B9

Correct Answer :-

o 3 HISH fam

4) Tt farR &Y, uTd &) S AIfSH AT IR I A ucaa 1
1. Tearad faam ST gt

2, et fpar ST 8

3. afdhd fHaT ST &1

4. S fomar ST 61

Correct Answer :-

. Ucdiad fhar S el

5) BC BT ATH gadT3N:

W Ay 9 g7, W9 RERa g w
g A faafrd, fs= fom g e o=

1. 9Wg

2. Xl

3. <l

4, R TifcepT

Correct Answer :-

6) ©c DT ATH I3

FremreR aReH, sRa e W< &,
Gd-9% gU-Ype, AGl IR ¢
et §9-1aTe, ol aRI1-HS9 ¢,
T W, A9-% Riga= 21

1. Y

2, el

3. TiifcepT

4, BR TiifcepT



Correct Answer :-

7) s BT 3 §:
1. BRI, i

2. BRI, fHIRT
3. BRI, didT

4, BRI, PG

Correct Answer :-

A4

.« IR, HIG

8) fe 3R & w1 ardf 2
1. fda9 oIk ke

2. feag iR g

3. dla9 SR i

4. feg SR Mie

Correct Answer :-

. feag iR g

9) TUIIRy A P I THE &2

1. PHYRY THN

2. SIS THIY

3. fgr 9

4, TSY I

Correct Answer :-

. 3T U

10) faf3ra arer &) ATYRUr aTRT § Seat:
it Hfd ABIT FIT §, SHDT THH Gt R 51’
1. BT B BT T T HRd B

2. AU Bid BT T AT A1



3, WH T B B TG 9 F gRIFA B
4. BTG B S BT & ITbT Il T B B

Correct Answer :-

. ABO Bfd BT A G B B

11) NaH-1ROP {6 0 &1 5 82
RCERGINES

2. MRP_F s

3. Aife-fRY®

4, 99 g

Correct Answer :-

. foudiarde

12) forH Bg TU-ga 3R R Frasi & ogar g, 38 #1 $gd 82
1. 98 B
2, g HTH
3. HE1 BT
4, e T

Correct Answer :-

. YDA

13) FYATAD PT RIS faUg Fa1 ghm?
1, T aTell Y

2. XY DI T arell

3. XY DI I dTell

4. Y S AT 8

Correct Answer :-

« Y B IAM grel

14) [ 914 ferat
“JH G AT S B I



1. Y AfeAr ¢ &l
2. JY A T A
3. I AfeTi G Al
4. I QAIAfCTI ¢ ATl

Correct Answer :-

. JUQARAIG Al

15) ATYRYT a1 1 {3 o & agal:

FIRATR P 3@d 31 gt a1 Pt 4G SR 31’

1. GXRNTR &7 3R TTAT § a9 Gl a1 ! A1E T ATl 52

2. 59 H SRR &1 3R <Ed g ad i a1 1 TG et STl gl
3. 99 B gRIITR Bt 3R S|l § a9 G a1 &1 ATG 31 SR & |
4. B RRITR 3 3R TEar 3R g3 a1 31 3G S e g1

Correct Answer :-

« 9 H RRR & 3R SWdl § a9 G el 1 A16 3T A 8 1

16) <33T’ P TSI el H T Hed 62
1. SIRGR

2. HHIR

3, §gd Wl

4, §gd g

Correct Answer :-

17) 334 IR H1 TSI el H w1 Fed 82
1. GER1 SR8 X871

2. A €T XE

3. 9 38N

4. I 38

Correct Answer :-

. 3MAEIwE



18) fyifpa Ui F P I &2

A TG & T°T DRI |
TRY GER 83 R GRT ||
3 I 33 gy Hifg & |
Peard! aTa® a9 S ||

1. % 39
2. dIHE
3. 4R
4, HIY TH

Correct Answer :-

19) ¥H BT ATH L

“HITHE 1P 7 & AT g Tp R eraa
1, AT

2.8

3. R

4, DY

Correct Answer :-

o dlcqcURY

20) UIRHIYS A A &

1, S TS & § 31 Y Ube R g

2, TSrTesT TRHTST A1 SARSAT T8 bl oIl el B

3. Sl forddt &t oy & wep A ol ufReifia oref 1 ihe Fxa B

4, S fort &t faR & U A ofik ufefifira oref &t wrave et vl B

Correct Answer :-

. o Bt & faRIy & wes AT ok ufkefiftra arf & ybe dra

21) “HUS 3R HuTe’ &1 T A B2
1. YIRGT 3R gaTel



2. YT 3R AN
3. SRGT 3R ATl
4, 4IGT 3R ST

Correct Answer :-

o SGT 3R ATl

. OrRf

24) JT ST & T W ©:
1. BT

2. ST

3. 9u

4, 39

Correct Answer :-

25) A 3MX W P13 ¢:



1. T9&7 3R T
2. e 3R G
3. g 3R I

4. et 3R The

Correct Answer :-

. Jhe 3R T

26) Wl $YF TA1:

1. U Trea Ryt weaned & 8 ugur fpu od &1

2. g req; aeamef SR v & € ugur fpu s & 12
3. ORI ez Ry sifvened & & ggur fhusnd g1

4, “qIRYTTS Wreg Rt v & € ugur fu S § 1

Correct Answer :-

. RIS 2reg Rk sifdrene & € wgwr fru S &1
27) IR I & &I YHR Bl &:

1. 3UIG 3, faam

2. TN 39, fagi 3|

3. AT 39, fauTa 3

4. YR W, TR W

Correct Answer :-

28) el YoTdRT IdI¢:

FH gE R g Ay Rifs das _ §1
1. &7 fopvd

2. [GT Bedd

3. fg1 fogea

4. fa 38

Correct Answer :-

. feafa



29) P d fAifgd SddR arsit:
3T o Ardhd TR 8 U,

& ¥ frem T B ST IE

1, AR bR

2. TAY 3CiPR

3. TUD 3APR

4, 3R SADR

Correct Answer :-

30) HTi ¥ A Sra®R Farsit:
WRY Hd = A T, ¢Ra fagy foanfy,
S WRE Ui ufy, g usig 7 |1ie |

1, Y 3ABR

2. FUH AABR

3. 3RAITa SABR

4, 3UH] 3[ADPR

Correct Answer :-

Correct Answer :-

32) 3ifg &1 A 2
1. 3T, dUC, SHHRT



2. T4, due, g1
3. Y, @ue, g1
4, 7T, 3ifae, g1

Correct Answer :-

33) fevlt wel 4 yailRE g3 At
1. XddllH
2. TRragdt
3. AR
4. Y@

Correct Answer :-

34) <IRTET HT YTHTRIS [AUg 1 g2
1. IR Gl BT8R

2. IR ! BT FHER

3. IR G| BT GHER

4, IR TG

Correct Answer -
. IR Gl BT HARR

35) “TTd-Ia [T W o1 2 &2

1. famitarde

2. R R

3. e e

4, 99 g

Correct Answer :-

36) Yo A1 B! I AT § TEforg



«“3HA Pl 3R F A Ma1”

1. 9P He 4 H F AR

2. 3P H- o H 9= T[4

3. B I T 3P He

4. 51 BT 39 gl o g1 H JIF T

Correct Answer :-

. IUP B A H A T4

37) U8 fPaa1 HU &

“BTIdT & AI-UTG B IET el g I’
1. Y19 TR iy

2. BRI UG fgad

3. HgTedr gt

4, SR IHT= I

Correct Answer :-
. SRR IS YA
38) T AT & oY U <eg TAIST:
“for T 1 51 |
1. S
2, I
3. 3T
4, 3R

Correct Answer :-

39) 9 AT & (AT TP g qaST:
{51 groft suea 7 R B



4, ffAga=g

Correct Answer :-

40) TS IR DI AT a1 | dGferg
«gg Ug P 3Tl 3RgaR W JIarg1”

1. T8 UGAT § 3R SRgeR o ST B
2. gl € 3R ergeR ff S=ar B
3, Saifc I8 Uedl + b+t sraeR +f ST B
4. U & 1Y I8 SGIR Hi S5 |

Correct Answer :-

. 98 USdl g 3R SrRgeR Hi s=ar gl

41) oy HIfAda < &

IR
2. fomfor

3. fqn
4. A

Correct Answer :-

42) TP P fIa9 g 8
1, BUS]
2. AT
3. Tl
4, frfg

Correct Answer :-



1, 98 B
2. il
3. gl B

4, dlch

Correct Answer :-

2. fgal
3, Aifg®
4, gicfasd

Correct Answer :-

45) g faereq gasa-

fafRry fawg, S fagm, war enfe &Y ae-iel siftaafea & fere Rfda sruar fafdry orf & wgaa
HEE IR Ak

1. TP e HEAd &
2. TIRHI Weg HEld &
3. QI ¢ Vg HEald &

4, ¢ Vg PEdld o

Correct Answer :-

. TIRHIRS Tec P &

46) Wg! faweq gfg:

HeThTod 3R WUS BT | THI A& 2
1, UTHT Rt SURITA|

2. HUTHY ITRIT |

3. IERY IUTRIYAT|



4, HYFn SUMRIYA|

Correct Answer :-

o DY[Hh JUTRITU|

Correct Answer :-

. 3Qfeces HTST

48) gl faweu garei:

R & {5 I &1 YTE H8T T 87
1. AT X

2. TR

3. QA X

4, Yfad 39

Correct Answer :-

o dlHcY Y

49) W&l faweu d a1 3 gfd B
HETOT § UTT-RET qAT BT ST ¥G-T A1feq |

1, ARG -3l
2. TR G-l
3. TRl
4. ORIOTH-SLgdl

Correct Answer :-



50) Tg! fawed | a1 oI gfd DI
dauurdfowmsl @S9 vEAr ikl
1, Al Td gurdt

2. FHHdT ud gufdr

3. GERIGAT Td guidT

4. GHvEG Td Sgufar

Correct Answer :-

- GERIEAI Td quidT

51) el f[dwey 9a1y;

TR I SARAT S PRUISTUATUREIA DI Sd@ gl 3
1. AT X

2. T

3. Yida

4. 871

Correct Answer :~-

o QY

52) el f[a®ey IamQ:

3 Afw) F} faeTy &1 TR JAHR URAdR@A 2 1
1. §91 Hradl

2. T SR STelms

3. el & &3 ST

4. ©1 & fad Siamg

Correct Answer :-

. fie fegean

53) el f[adHey TamQ:
ot o1 arg fpea oft Togmeh Sud 2l
1. B H dd T8I STefdl!
2. B R g! dodl




3. M W A5l Wl
4, =T TR I g 93l

Correct Answer :-

« B WY 7o Il

54) 3T 3N <3fter o1 3rf R
1. TR AR AL

2. T 3R GAMT

3. TOFITeY ST T SR WierT

4, TP 3R e

Correct Answer :-

o fSFQY 3T BAT 3R T

55) HIf$yT Tafia wel | USRI 52
1. Yo

2. TRIagdt

3. NG

4, TG

Correct Answer :-

56) HETAX &1 3 AT

TR § 781 & g, gfear =it YAm P
1. 774 g

2. % 1 femar |

3. B R I I 81|

4, JHS ST

Correct Answer :-

. = &1 feamar A

57) HgTax &7 31 gargd



«agl el HIATI”
1. 9gd YHBHI|

2, 9gd ARAT

3. Sgd =M

4, 9gd Sl

Correct Answer :-

58) ‘geiipd’ § HI T THTT 82
1. HHYRY T

2. GG gHNY

3. fg 9o

4, AYSY ™

Correct Answer :-

59) et w3 gfd o3
faymd e gedl gl
1. &A1Y T

2. YA =AY

3. 3fiIfere T

4, FHTSTD TITY

Corfect Answer :-

« R Ty

60) forT fp=ft Pt 1 quf Ter A fam et B, S¥ R P B2
1. TS HIH

2. Yg ol

3. Hel I

4. 7T b1

Correct Answer :-



61) S U &I & 9 ¢ 3R 4 R Te g7 #13IeR &:

DSl 4d AU 3, WY e 9,
HA DI 3T TR, Hol S He o1g|
3 TR 8 IR $6 URAT 7,
TRl 8 N, T &) R TR B

T W94 WRUT & G& WX, TROT &RT Y,
SiHT 8 dl 1A ¥ AT SN

TY: 9 BT BT MM i)
1. ST

2. UHS

3. Sitad

4.7

Correct Answer :-

62) S UL P! S A US ¥ 12 faTw 1 U= 13k &

Bis! Ad 3u=T 34, F He oL,
HA P 39 W, Hel SHAH Be Sg|
3 9R T GRS $3 URAT B,
TRAT ¢ S, TP &1 IR ARl 3

TH W04 WRU] & G UR, TROT &R X,
TR A T & A s ¥

Y: g & fawa § ofa o1 o faer 32

1. Bfd BT AT ¢ fh Tog TP B! SR 3Tl § 3R I ST 8] =iy
2. HfA BTHA ¢ [ TG TP &1 IR 3Tt § SR I ST AT

3. Td BT T § [ T IR-TR 31Tl § 3R ST ST 81 =i

4. HfI BT AT ¢ I Jg TR-IR el § 3R I S01 716} A1

Correct Answer :-

. HIIHIAA G [ Ig TP 1 IR SMTct B SR ST ST T8 A1



63) 39 UL &I WH I U 3 i fT e yx— F13wR

BiS! Ad (UL 3, J He WL,
Hd eI 39 W, Hel A B §g|
&) IR T TR $3 CRaT T,
ARAT ¢ i, T &) R "R 2

T T ARUT & G WX, TWUT ¢RI R,
Gﬂm%?ﬁnﬁﬁqﬁsﬁ%l

UY: 39 Ufeaal &1 Hig fora’

1. TS 1 ST P WIHR Ta! ST <13, Fiifes g IR- IR A 8, ST ygia g =nfeul
3R A &1 ST & Al G Bl TRISTd HRap o1 AR T |

2. U™ T 30 AHTATH B @R ST =113, Fiifes 7eg b T IR 8t 7, 39 vaia 76t
ST AIRT| 3R TS Bl ARAT § <) Siia P! URIIId HReh HRAT AR T

3. U™ 1 BT 30 STETRHM &1 Wi g il anfed), Fifes Jog Rt T aR el §, S
Y2 fid T8l g1 AU | SR TS &1 i1 & <l Jog P GRIFTd HRap ST a1y |

4, AT B HHUY 309 STHTRT &1 Wi ST =i, i Yog Rt T IR oimelt 8, 3T v
T G A1RU | 3FR AT &1 HRAT § < Yog bl URISId Reb SiT A8yl

Correct Answer :-

« TS B! HH T STATHE DI WX ol Sl AN, Fiifs T R T IR o1l 8, ST
i e T AT | SRR AT &1 SfiF1 8 <Y g 1 ORI SR ST A1

64) 3T U B! M A U 3NT 19 feu T8 y= &1 3wk

Bis! Ad 3UHT 3, JT He L,
Hd FhI 39 W, Ul SHH Be &gl
&) TR T8 TR Ho tRAT T,
TRA1 & o, T B IR "R 3

T 94 WRUT & Y UR, TROT &R X,
ST @ & FRA ¥ e S9 ¥

TY: TRUT & T TR TN ¢RI W B BT FI1 a0 82

1. Ffd BT a8 S a8 Hid I X R A 9wt ea B

2. TR0T & g TR AR0T &RT ¥ B o1 1y ¢ o a8 Hid I 1 X HfUg Hid DY o0 9 & $e
3. TRUT & R TR TRUT &R W HY o7 1y g o a8 Hia X fobeg Sha 1 3o g A |
4. Id HE1 ARdT & DI aI 3Ad BIAR § S8 G BT HI B

Correct Answer :-

« TRUISP T8 IR RO &R B BT A0 ¢ b 98 A o 1 8% iU Jd &1 3o a= E Y|



65) T el P &9 T Ue o 4 few e u=q 13w &

TP 3 ST Wl | R T6T T 39 I | uferal & R gu v 3@ | 39 31 Ul &l
AP Tebdl T | TH T Ul D1 98 310 R o ST | S U] DI T b SHUR Holld 3|
b= I9A I2 A1 A U 39 UPR 394 UE] BT TP SIST 99T 3R 383U+ gigl § v
forar| SsTord ufafe st ave Ul &1 YR BT ATl 98 ufdafe uférl @ avg UE vaRex
IS BT WY HIdT AT

Y Ul &1 SoTad A foed Rigeran
1. U 1 SSTaY - T ¥ Feuspr |
2. Ul 1 SS1eY A 711G ¥ fuern|
3. Ul I STy A =it H fauern|

4, UGl &I ST A I o fusmn|

Correct Answer :-

. U@l &l STy A Ji9 ¥ Riuer|

66) S e &I M ¥ U¢ 3R - f3U 71 w2 &1 S« <

TS {31 ST Wl | e 8T 4TI 39 I # uferal & R e e 37 | 39 S ual &l
AP U bl | T Ad Ul Dl 98 S0 =R o 3MHT1 SHA Ul Dl Th b HUR U ASITh.
@11 fipR 399 3¢ Ji 9 RIUe | 9 UeR 394 UE] &7 TP SiisT 9911 3R 3= 3u- aigl §
o foran | STy ufafe s+t ave ual &t 4Rur wear U119 ufafeT uféray @) avg va
THR®R 38 BT AW BT AT

UY: SSTor A @i &1 1 fopar

1. SSIAY A UGl &1 ST TWRIGT 3R 35 301 siel & ol form|
2. ST = U PI SIIST TR 3R 375 S0 HHR | T fora|
3. ST = U B1 SIS ST 3R 37 S0+ aifgl § o fora|
4. STTAY 7 UG} 1 SST 91T 3R Ig 30T dis & @ feran

Correct Answer :-

.« ST A UGl BT SST ST 3R I 370 drel | o for|

67) 39 L I A | U 3R 1 f3T 718 y=7 #1 I«R <



T fa-1 SSTa9 Wl I TeR &7 AT 39 I J uféri & R gu i@ 39 | 39 39 4@l &l
D U [T | THHEAT U] Bl a8 30 TR o 3ART| A UH] DI Th & SHUR TD olTh
@11 fp 3UA 32 A 9 RIUe | 39 UeR 394 UE! &7 U SiisT 9911 3R 32 3ru- aigl &
o foran | STy ufafe s+t ave ual &1 yRvr wear UT1 98 ufafe uféral @) avg v
THR®R 38 BT VIR BT AUTI

TY: SSTAT Ulclfge o1 Sl UT?

1. SSTCT Hfdfe QR 1 O UG TRIRSR 38 &1 SR Bl AT
2. STy Ufafe uféral &) de U TIRSR IS+ &1 3111 T UT|
3. 3810 UlAfe Tid &l ke UG TURSR 38 BT ST Hal UT]

4. SSTAY UfAfeT DI D1 IR UW TARGR IS+ BT 331 BT UT|

Correct Answer :-

. SSIAY Ufafe uferl &1 ke Ua TIRER IS BT 33T HdT UT|

68) 3 T B! &AM | Ue 3R - f3T 71T v= 71 I= <

TP 3 ST Tal A e 38T 411 3T+ I A ufera & iR gu v 33 | 394 3 ual Hi
AP U [T | U 3d U] 1 983U ¥R o S(RITI SHA UGl Dl Ueh b HUR U ASlleh.
@11 fipR 399 S 719 9 RIuern | 39 UeR 394 UE! &7 U SirsT 99T 3R 323U+l digl A
o feram | SeTarw ufafes o=ft are ual o YyRuT Hear ATl 98 ufafes ufar &) avg ia

TR 381 BT AWIRT BT AUTI

UY:TH A Ul BT SSTerd = 1 fhan?
1. TH ] UG &l a8 USRI & TR o 3T
2. ThId UG Dl I8 3T TR o ST

3, UhlAd U] bl 98 STVIR < ST

4. T Ul 1 I8 ol b U o 3|

Correct Answer :-

. UHEd UGl &1 98 304 TR o [

69) T e P S I Ue iR 1 f3T ¢ u=e 13« &

% e SSTa Wl | o T6T 411 394 I A ufgral & R gu v ¢@ | 394 31 vl 3t
AP Tebol T | T Ul 1 98 30 R o ST | I U] DY U & $HUR Tb Hellh?
3@ | fipe 3T 32 Wi A RIueran | 39 PR 394 UE! &1 TH SiST 91T 3R 3¢ Siu-t argl A



@ foran | SeTaw ufdfe st avg Ual &1 YR HRaT UTI 98 Ufdfes uféral 1 avg v
THR®GR 384 BT T HIdT UTI

TY: SSTANT A IR § T G2

1. SSTEY = I H P & R gL TG G2 |

2. SSTerY I H ufardl o R gu dg < |
3. SS9 H ¥ H U8l R R g U ¢ |

4. ST = I T YRt & R gU v |

Correct Answer :-

. SSTAY A I H uferl o IR gU e < |

70) 9 U DI O A U 3 1 fIT T Uz H1 IR &:

BIs! A UL 3, JF FHe G,
HA P 3T W, Hol SH Be Y|
3 IR 78 IR $6 tRAT 7,
TRAT ¢ S, TP &1 IR 6= 3

T 04 WRUT & Y UR, TROT &R X,
T A A T =2

TY: HIY 71 IO T@T 32
1. B4 ¥ HIST H THUS & 1Y oA 1 RO &t 3|
2. A Y AT B STHETH P 1Y O B UROT ST |

3. Bd ¥ TS BT STEYHA P 1Y S P! IR0 < B
4. B~ AT DY SFHTH P 1Y S T OROT Y B |

Correct Answer :-

« BT AT BT SATHM F T A B IROT T B

Topic:- General English

1) Choose the appropriate articles for the given sentence:

She painted beautiful scenery in water colors while sitting in garden.
1. a, the

2. the, a



3. the, the

4. an, a

Correct Answer :-

2) Choose the appropriate preposition for the given sentence:

You have been learning anew song _____ three days.
1. for

2. since

3. by

4. in

Correct Answer :-

« for

3) Choose the appropriate preposition for the given sentence:

The child is quite cheerful and happy ___his own.
1, at

2.on

3. with

4, about

Correct Answer :-

4) Choose the appropriate preposition for the given sentence:

The buyers have askedus ___ heavy discounts.
1, at

2. on

3. from

4, for

Correct Answer :-



5) Choose the appropriate prepositions for the given sentence:

Let'sgo__ thecinema.l haven'tseenafilm___  1979.
1. to, since

2. with, from

3. on, for

4, for, till

Correct Answer :-
¢ to, since

6) Choose the appropriate articles for the given sentence:

She went to the market to purchase few groceries and kilogram of apples before
returning home.

1. the, a
2.43,a
3. the, the

4, 3,an

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

Another growth trigger for power sector has been Electricity Act formulated by the
government in 2003.

1. a, the
2. the, the
3. an, the

4, the, an

Correct Answer :-

¢ the, the



8) Choose the appropriate usage to fill in the blank:

In spite of the heat, they marched ___
1. quickly

2. with speed

3. humbly

4, fastly

Correct Answer :-
e quickly

9) Choose the correct form of verb for the given sentence:

It that Lee Harvey Oswald may not have acted alone in the assassination of John Kennedy.
1. believe

2. is the beliefs

3. is believed

4, to believe

Correct Answer :-

e is believed

10) Choose the correct form of verb for the given sentence:

The giraffe survives partly because it
animals have not grazed.

the vegetation in the high branches of trees where other

1. must reach
2. is reaching
3. can reach

4, needs to reach

Correct Answer :-

e can reach

11) Choose the correct form of adverb for the given sentence:

The property was divided among all his children.

1. definitely



2. surely
3. fairly

4, infinitely

Correct Answer :-

12) Choose the correct form of adverb for the given sentence:

The place where Buddha was cremated has been discovered
1. recently

2. calmly

3. frantically

4, grimly

Correct Answer :-

¢ recently

13) Choose the correct form of adjective for the given sentence:

You can trust my driver. He is hard working and
1. considerate

2. gentle

3. reliable

4, kind

Correct Answer :-
e reliable

14) Choose the correct form of expression to complete the sentence:

It is difficult to guess what her _______ to the news would be.
1. expressions

2, intention

3. reaction

4, ideas



Correct Answer :-

e reaction

15) Choose the correct form of expression to complete the sentence:

It is terrible that people should dieof ____
1, starvation

2. fasting

3. starving

4. hungry

Correct Answer :-

e starvation

16) Choose the correct form of adjective for the given sentence:

He didn't know anyone at the wedding than the bride and the groom.

1. except
2. rather
3. apart

4, other

Correct Answer :-
e other

17) Choose the correct form of modal auxiliary verb for the given sentence:
1 have gone if my car had been in a working condition.

1. might

2. may

3. can

4. must

Correct Answer :-



18) Choose the correct form of tense for the given sentence:

I___ allmyworkand so | am free until Monday.
1. was doing

2. have done

3. am doing

4, had done

Correct Answer :-
e have done

19) Choose the correct form of tense for the given sentence:

He__ herein 1955.
1. has been working

2. worked

3. is working

4, works

Correct Answer :-
e worked

20) cChoose the correct form of tense for the given sentence:

I'm sorry about this noise you hear. She _______ for a concert.
1. practices

2. is practicing

3. has practiced

4, would practice

Correct Answer :-

e is practicing

21) Choose the most suitable determiner for the given sentence:

To look smarter, wear your dress.

1. white new cotton



2. hew white cotton
3. white cotton new

4, cotton white new

Correct Answer :-

e new white cotton

22) Choose the most suitable determiner for the given sentence:

He is very demanding; | have patience left to deal with him.

1. more
2. ho
3. much

4, any

Correct Answer :-

23) Choose the best sentence starter from the given options:

It was a public holiday. All shops were closed.
1. While

2. Asitwasa

3. Just asitwas a

4, Even though

Correct Answer :-
e Asitwasa

24) Choose the appropriate articles for the given sentence:

The BPOs remain popular choice for younger generation as it offers numerous job
opportunities.

1. a, the
2.3,a
3. an, the

4, the, an



Correct Answer :-

25) Choose the correct form of tense for the given sentence:

Drink your medicine; you much better.
1. will have felt

2. will feel

3. are feeling

4, feel

Correct Answer :-

o will feel

26) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’'s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo’s first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.



De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: The underlined word, ingenious’ in Paragraph 2 means:
1. Rare

2. Mundane

3. Extraordinary

4. Original

Correct Answer :-

e Original

27) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’'s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.



De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn't find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: What is the main function of the Flo?

1. All of the above

2. Lets the rider know whether to slow down, pedal harder only

3. Lets the rider know if he/she has to maintain the same pace only

4. Flo captures the rider’s speed using a radar only

Correct Answer :-

o All of the above

28) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist's dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.



In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.

De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.doganews.com

Question: What is the uniqueness of Utrecht?
1. It is a cyclist’s paradise only

2. Cyclists here get priority only

3. All of the above

4. Four-wheel drivers are considered to be guests only

Correct Answer :-

o All of the above

29) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo's first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.

When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising



along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.

De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: Why has Flo chosen to flash the image of a cow?

1. Cows are often considered to be speed braking objects on the road.

2. A hare and a turtle are ancient symbols for high speed and slow pace.
3. Cow is the national animal of the country.

4. The Dutchmen worship the cow.

Correct Answer :-

o Cows are often considered to be speed braking objects on the road.

30) Read the passage carefully and answer the question given below:

Utrecht, the fourth largest city in the Netherlands, is a cyclist’'s dream. Unlike other urban areas
that confine riders to tiny lanes, cyclists here get priority with dedicated “bicycle streets” where
cars are considered “guests,” as well as special bike tunnels and bridges. The city is also in the
process of constructing the world’s biggest indoor parking lot for bikes at its central train

station. However, the over 60 percent residents who use the two-wheelers as their primary mode
of transportation are still frustrated because, like cyclists all over the world, they have to make
constant stops at traffic lights.

To ease their pain, Jan-Paul De Beer, head of local design firm Springlab, has come up with an
ingenious solution — electronic kiosks that help riders sync up their speed with the onset of a
green light. The tall blue structures, called Flo, are strategically placed about 120 meters (393
feet) before a traffic signal. They capture the rider’s speed using a radar and let him/her know
whether to slow down, pedal harder, or maintain the same pace.

Flo’s first prototype featured LED lights that would light up in sequence to show the ideal speed.
However, this turned out to be dangerous since riders began focusing more on the lights than on
the road ahead. But since people seemed to enjoy the idea of “outsmarting the traffic signals,”
the designers decided to incorporate a fun gaming experience in the next version.



When a fast rider zips past a Flo kiosk, it will signal him to slow down by displaying a tortoise.
Conversely, a slow cyclist will be encouraged to pick up the pace by a hare, while those cruising
along at the perfect speed will be rewarded with thumbs up sign! Whenever possible, Flo also
communicates with the traffic lights to turn them green allowing the cyclist to breeze through.
In cases where the red light is inevitable, Flo will flash the image of a cow, letting the rider know
that he/she has little choice but to wait it out.

De Beer says, "We chose animals because a hare and a turtle are universal symbols for high
speed and slow pace. A cow, however, is a new symbol, because we couldn’t find a playful,
widely known symbol for waiting. We chose a cow because when you go on holiday to France,
which every Dutchman does, you often find yourself waiting for cows blocking the road.”

www.dogonews.com

Question: In spite of all facilities provided in Utrecht, what is the major complain of residents?
1. Since 60% of the people use cycles, the place has traffic jams.

2. All of the above.

3. They have to make constant stops at traffic lights.

4. They are demanding special bike tunnels and bridges.

Correct Answer :-

« They have to make constant stops at traffic lights.

Topic:- General Knowledge

1) Find the missing term in the given matrices./ f3€ 7Tt #fesq A gw ue 3@ &3

5 5 2
g | 3 |10
2 14 |1
160 | 120| ?
1.13
2.20
3.40
4,12

Correct Answer :-

« 40



2) If the third day of the month was Monday, then which day will fall on

fourth day after 2152/ gf¢ 7R &1 =T fo7 WvaR o1, @t 219 A & Ig A Aur e
SI AT ERIT?

1. Wednesday/ gUdRR
2. Tuesday/ HITAAR

3. Friday/ P dR
4. Monday/lﬂil?ﬂ?

Correct Answer :-
« Tuesday/ HICAR

3) In the following question, select the related letter/word/number from the

%g;n alternatives. /fA=fiRad uza # fow e fweul § & TwfRd siaR/ree/AEn &1
|

AB: 12 ::EF:?
1.31
2. 46
3.42
4. 56

Correct Answer :-

4) In the following question, select the related letter/word/number from the

%ggn alternatives./ Afafad Uz # T e fowel § & TwfRId sieR/re/E &1
|

BRAIN : THOUGHT::/ ORaw® : faar ::
1. Stomach : Hunger/ Uc . g

2. Sky : Lighting/ 3{T&IRT ; AL

3. Electricity : Dynamo/ ﬁ‘g{qﬂ . STH

4, Water : Steam/ old : dig

Correct Answer :-

« Stomach : Hunger/ Uc g



DIRECTIONS: Solve the alphanumeric series given below:/ fFd=r: i & 7 arer
YT YUl BT §A By

J6X, L12V, 020T, S30R, ?
1. X42P
2. X40P
3.Y42P

4, Y40P

Correct Answer :-

. X42P

6) Select the correct combination of mathematical signs to replace * signs

and to balance the given equation./ * ﬁ%’fﬁmﬁ%ﬁﬂ;’&ﬁ?ﬁqumﬁ
Tgfera - & fore T ddal &1 agt Jare T g |

28 ¥ 4 x 9 * 16

7) Which of the following is the greatest fraction? /= # 3 ¥ed 78t R P 82

o | L

N
S

&
=11

Wl

4,

Correct Answer :-



8) Which figure represents the exact relationship with the variables given in

questions? /T 3Tpfa uy 7 2T T sraual & fAfda ey &1 gt 82

Teacher, Writer, Philosopher/ R1&&, d@®, grRiff®
1.D
2.B
3.C

4. A

Correct Answer :-

- A

9) Umesh is taller than Satish, Suresh is shorter than Neeraj but taller than
Umesh. Who is the tallest among them?/ S, TR & Gor-T H T 8, IR, R
P AT A BT 8 TReg SU T 181 3T I T S 82

1. Neeraj/:ﬂw
2. Suresh/w
3. Umesh/38=1
4. Satish/IdI=

Correct Answer :-

« Neeraj/-Rdl

10) Mehrunnisa is eleventh from both end of a row comprising of girls. How

many girls are there in the row?/ AgSa Asi$hdl &I Tdh Ufad § g SR I TR
I IR 81 ufea ¥ fea-t asfear 32

1. Nineteen/ Ja
2. Twenty-one/ SFD I

3. Twenty-two/ S59
4, Twenty/ a9



Correct Answer :-

« Twenty-one/ EGSHR|

11) Point out the letter which represents both Indians and historians but not
Politicians on the basis of these three circles./ sqﬁqa%mnmwwwfaﬁ
3R &3¢ ot YR 3R 3faeraeRi gl @1 gxifar 8 Wy weHare &1 7&l|

Indian / A

Historian f 33 — Politician/ AT

1. Only b/ dad b
2. Only f/ %ad f
3.bandf/ b 3R f
4. bandg/b 3R g

Correct Answer :-

« Only b/ %ad@ b

12) ‘Swaraj is my birthright and I shall have it’, this is a famous saying by -

/" TaRTS! AT TG SR § 8k & 39 Ap? I, fre uireg =afaa = we1 ut?
1. Bal Gangadhar Tilak/ &Td Ti7meR fadsd

2. Netaji Subhas Chandra Bose/ =Tl gHTY T a1

3, Jawaharlal Nehru/ S8R @Td 78&

4, Gopal Krishna Gokhale/ TTUTel 0T TGl

Correct Answer :~-

. Bal Gangadhar Tilak/ &1 TR fads

13) The cost price of 400 lemons is equal to the selling price of 320 lemons,
then the profit percent is:/400 g3 HT FageT 320 TN & 4. G FwRERE, @t
ufer=Ta ATy T Be |

1. 20%
2.40%

3.25%



4. 15%

Correct Answer :-

e 25%

14) The Betul district is the source of the River - / a@mﬁqﬁ\:ﬁﬂiﬁﬁﬁﬁ
a2

1. Tapti/ ATt
2. Machna/ Hd-1
3. Beas/ R

4, Tawa/ ddIl

Correct Answer :-

« Tapti/ et

15) Which country is called the ‘Sugar Bowl of the World'?/ fPaca = Ry o
GBI BT HERT' HJT SITaT1 82

1. Brazil/ STioid
2. Ghana/ 91

3. Cuba/ RIdl
4, Peru/ =

Correct Answer :-

16) 4 bells ring at intervals of 30 minutes, 1 hour, 1 hour 30 minutes and 1
hour 45 minutes respectively. All the bells ring simultaneously at 12 noon.
They will again ring simultaneously at:/4 Efear %4 30 fiqe, 1 e, 1 92130
e a1 1 Her 45 fiFe & SiavTa W ool 8 1 9t 5feai te a1y 12 9 Sruge A aeit 81, v d
U: U H1Y B Folii?

1.9 a.m./ Gaigd 9 T
2.3 a.m./q\Eﬂ%:[ 3§
3.6 am./ H@TB:[ 6 ol
4,12 a.m./q?ﬁg:[ 12 99

Correct Answer :-

« 9 am./ gaigd 9 T



17) The folk songs of Birha is sung in the region of - / fSRgTdie MawH-T a7 A
7T ST 82

1. Malwa/ Hiddl

2. None of these/stlﬁ@[ﬁ?fﬂ’@'
3. Baghelkhand/ d9c@ug

4. Bundelkhand/ §cads

Correct Answer :-

. Baghelkhand/ SUa@us

18) In a certain code 'SUBJECT' is written as 'ATRIUDF'. How is ORDINAL
written in that code?/ & fAf¥d e ® 'SUBJECT' &I 'ATRIUDF' ferar siran 8 | Y 3=t
HEUTHT H "ORDINAL' & fHa YR ferar s

1. CQNHBMO
2. ESFHMBO
3. CQNHMBO
4. NQCHMBO

Correct Answer :-

« CQNHMBO

19) Where is the Kala Vithika situated?/ &1 9T $gl U 82
1. Indore/ $GR

2. Gwalior/ TaTferR

3. Bhopal/ T

4, Jabalpur/ SIdcigr
Correct Answer :-

« Gwalior/ TaIfeRR

20) Who was the first Gupta ruler?/ T4¥ Jtd TS HIF A?
1. Samudragupta/ I

2. Chandragupta ‘Vikramaditya’/ 9&7 T’

3. Chandragupta/ s3]«



4, Kumaragupta/ $HRIW
Correct Answer :-

« Chandragupta/ Isi[w

21) When was Dindori declared as a separate district?/ &= &1 arer foren w9
T fopar Ty 42

1. 1996
2. 1997
3.1999
4, 1998

Correct Answer :-

« 1998

22) When was the Anglo-Bhopal treaty signed between the East India
Company and Nawab Nazar Muhammad?/ s‘wg%mm\aﬁ?mww%
S e vuTe I U g aTeR &9 fhd e U2

1.1818
2.1817
3.1819

4, 1816

Correct Answer :~-

23) What is the capital of Vietnam?/ faUdam &1 Isiem= war g2

1. Lusaka/ qHIpT
2. Nicosia/ FiRmn

3. Hanoi/ B:ilé
4, Caracas/ GG

Correct Answer :-

. Hanoi/'ts’:ﬁ"sn



If a train with a speed of 60 km/ hr crosses a pole in 30 seconds, then length
of the train (in metres) is:/ 60 f&Hl/ger ®t A T Td §T TH IS TH @Y B UR
T 30 APUS BT IHI A 81 ITST Ft aaTs Uiex § qargd|

1. 750
2. 1000
3. 500

4. 900

Correct Answer :-

e 500

25) Swarnakars of Tikamgarh trace their origin to the city of ./

RremTe 1 WuieR WO & HIH- I R B IAR & IR A 9614 72
1. Lucknow/ T&3

2. None of these/ $TH 9 ®I5 ol

3. Ayodhya/ 3fared

4. Ujjain/ IS

Correct Answér -

« Ayodhya/ 3/

26) Simplify:/3IRA B3

1 1
(625)2 x (0.0144)3 + 1

i i
{0.027)3 x (81)2



27) The radius of a circular wheel is 1.75 m. The number of revolutions it will

22
USETT = —

make in travelling 11 km is: ( ?)/Wﬁuuﬁﬁaﬁﬁm 1,75 fiez gl 11

et wrer) & TR T g B T wew] @) e g Y| (v=7)
1. 800

2. 1200

3. 1000

4. 900

Correct Answer :-

« 1000

28) By whom is the Advocate-General of the states appointed?/ I P
TRTiradar &1 fead grRT FAgad fFar srar 82

1. President of India/ YRd & JFUfd

2. Governor of the state/ I & IIUTA
3. Chief Minister of the state/ o4 & JEIHA

4, Chief Justice of India/ HRd & T AT

Correct Answer :~-

« Governor of the state/ Id & ITUTA

29) Shah Jehan Begum was the ruler of Bhopal./ eS8l NH HIUTd &
D A

1. Sixth/ @34
2. Seventh/ qrad

3. Eighth/ 3iTad
4, Ninth/ -id

Correct Answer :-

« Eighth/ 334

30) The average of 10 numbers is calculated as 15. It is found later on that
while calculating the average, one number namely 36 was wrongly read as
26. The correct average is:/10 TB3M &7 3T 15 71 fHar T 91 § 719 g fop
ST T B THY, TP TWAT 36 P T W 26 3ifpd 2 & 71 T 3fiad 319 B9



1. 20
2.16
3.14

4,18

Correct Answer :-

31) If in a certain code language, SHIFT is coded as RFFBO, then which word
would be coded as LKUMB?/ f¢ T A3/ e utaT &, SHIFT 1 %c § RFFBO, T9
o TG &1 Fe LKUMB &1 81 a1 22

1. KIVLA
2. KIRIW
3. MLVNC

4, MJVLC

Correct Answer :-
o KIRIW

32) How many natural regions is the Madhya Pradesh state divided into?/

T YR IT & fhaq wrpfae & & faunfoma farar mar g2
1.8

2.9

3.11

4,10

Correct Answer :-

33) How many states does Madhya Pradesh border?/ HaUexI foha Isal & T1Y
T aren HRar 82

1.4
2.7
3.6
4,5



Correct Answer :-

34) By selling an article for Rs.72 there is a loss of 10%. In order to gain
5%, its selling price should be:/ TH I $! 72 FUY T 391 IR 10% FI FTH gl 3
5% WY HHAM & 7T I fhy frad w 9= =aifee?

1. Rs.85
2. Rs.84
3. Rs.80

4, Rs.87

Correct Answer :-

¢ Rs.84

35) Which of the following soils is not found in Madhya Pradesh?/ fRg &3 &9
N ger ver w=r H =L frert 82

1. Arid Soil/ &b Hal
2. Red Soil/ ©IcT Hal

3. Laterite Soil/ ®cIge gl
4. Black Soil/ ®Teil gal

Correct Answer :-

 Arid Soil/ [t Hal

36) Which of the following are nationalized forest produce of Madhya

Pradesh?/ fufeed # & 7en Ue= & WPIaea 99 § faeT e fear smarg?
1. None of the above/ SIRIad # I B3 Tl

2. Both of the above/ SWRI gHil

3. Sal seed/ 9Td & sl

4, Tendu Leaf/ a_g’q?ﬂ

Correct Answer :-

« Both of the above/maﬁfﬂ:ﬁ



Which of the following is a popular dance-form of the Gond tribals?/

Fafafea o @ S19-a1 M snfarRal #1 aie iy Ta-%u g2
1. Karma/?ﬁ:ﬁ

2. Thaapti/?—lTl?ﬁ

3. Lehangi/aﬁ'Tﬁ

4. Pardhauni/ TR

Correct Answer :-

« Karma/ Al

38) General Dost Mohammed Khan was a/an ./ ST HigWE @
TF Of

1. Iranian/ é?l:il
2. Afghan/ 3THIm-T
3. Mongolian/ HfeR

4, Turk/ Eﬁ

Correct Answer :-

. Afghan/ @I

39) A can do a piece of work in 4 days and B can do it in 12 days. In how
many days will they finish the work, both working together?/A &3 &1 @1 4
fet A aur B St @) 12 3§ ® Tpa g, 9 Sl fras: v a1y St v 3 fovaq et
T G B2

1. 4 days/4 o=
2.2 days/2 f&+
3. 3 days/3 fad
4.6 days/6 fa
Correct Answer :-
« 3 days/3ﬁ:f

40) If 'ROSE' is coded as '6821', 'CHAIR' is coded as '73456' and 'PREACH' is
coded as '961473’', then what will be the code of 'SEARCH'?/ gfe 'ROSE’ Ca|
'6821" Hfed fHAT AT ], 'CHAIR' &) '73456' Ffed farar orar @ ok '"PREACH' &1
'961473' Ffed fFa1 ST ? @l 'SEARCH' &1 %He FTENI ?

1.216473



2.214673
3.246173
4,214763

Correct Answer :-

« 214673

41) 5 years ago, the average age of P and Q was 15 years. Average age of P,
Q and R today is 20 years. How old will R be after 10 years?/ 5 a9 Ugd P éﬁ?Q
$1 3iTd oMy 15 9 21 P, Q 3R R Ft adu 3i¥a 3y 20 ¥ g1 10 9 91g R &Y Mg §ma
B

1. 50 years/506|13f

2. 30 years/BOaEf

3. 40 years/40 Y

4, 35 years/35 ay

Correct Answer :-

« 30 years/30 Gl

42) When is the Louis Braille Day celebrated?/ ﬁgaﬁﬁﬂ'\"fﬁmm%"?
1. 4th January/4 SREH|
2. 2" January/2 SFat
3, gth January/8 STHaR]
4, gth January/6 STHaR!

Correct Answer :-

o 4th January/4 ARt

43) Madhya Pradesh’s Mrinal Pandey is associated with the profession of - /

AU B! YOI TS H1H- T IGH F GHfa 32
1. Scientific Research/ dRH® THUH

2. Journalism/ TR

3. Astronomy/ Gid-fasm

4. Singing/ A



Correct Answer :-

« Journalism/ TA®HIRAT

44) If 10% of m is the same as 20% of n, then m : n is equal to:/df¢ m &I
10%, n ¥ 20% & SRR 8, Al m : n BT A FITERM?

1. 2:1
2.1:20
3.1:5

4,1:10

Correct Answer :-

45) A copper wire is bent in the shape of a square of area 81 cm?2. If the

same wire is bent in the form of a semicircle, the radius (in cm) of the
22

semicircle is 7)/Wmﬁwaﬁ$wﬁﬁywmms1mzl
o 22
IR SR AR B aisfgd B U H AT, @ g B AT A Y L 7)

1.7

(’1!53 m=

2. 126
3.10

4. 14

Correct Answer :-

46) A number is doubled and 9 is added. If the resultant is tripled, it
becomes 75. What is that number?/ T% T $ QT HI&b ITH 9 SirsT orar 2| afg
RumH &) i [T B S, 99 BT 75 F RSN 81 Sl 8| G &

1.12
2.35
3.6

4.8

Correct Answer :-

« 8



47) A, B and C invest Rs.47,000 in a business. If A invest Rs.7,000 more than
B and B invest Rs.5,000 more than C, then out of total profit of Rs.4700, C

receives:/ A, B 3R C ﬁwwﬁgﬁmmoo Wﬁﬁﬁﬁfﬁﬁﬂﬁl afe A = B 7000
FUY 3(f® YT B A C F 5,000 T 34w 1= fvu, i 4700 Tud & pa ary A € o7 g
BICEA

1. None of these/sT8 ¥ ®Is ol

2.Rs.1200

3. Rs.4500

4, Rs.1000

Correct Answer :-

« Rs.1000

48) 1f "p3= "P,, then find the value of n./dfE "P3= "P, &, A n &1 HM 1d BT

1.3
2.7
3.9
4.5

Correct Answer :-

« 3

49) 1
A truck travels at 90 km/hr for the first 12 hours. After that it trvels at 70

km/hr. Find the time taken by the truck to travel 310 kilometres./Td ¢bh 90
1

fpfi/eieT &1 fa A U8 12 YU qb TadT & 1 59P q1¢ a8 70 frilieer FY fa & aaar 81 g B
310 5t &1 gt 79 HA § o fova- awg am?

1.4 hrs/ 4 He
2.3 hrs/BEi?.r
3.2.5 hrs/2.56¢

4, 3.5 hrs/ 35%¢

Correct Answer :-

« 4 hrs/4dc



Where was Chandu Sarwate born?/ agw%av'rwav—s‘fgan yr?
1. Sagar/ 9" R
2. Gwalior/ TaTfeRR

3. Bhopal/ T
4, Rewa/ﬂiﬂ

Correct Answer :~-

« Sagar/d"R

51) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts. /e ﬁ%mwwﬁﬁﬁﬂqéﬁ'\'m
91e $9 e fou U &1 Smue! foT T Hy=l & T AT § HA g1 3 Jdyra aal @ e
UdId gid g1 9} frerut o) ufew fiee aa ifore i few e faeeuf & @ wi9-ar faeed few e
FHYHI BT THITT U A SR HIdT 8, IS TdgTd a4 $ Y |

Statements:/ ®Y:

Some trains are buses./ Waﬁ, T8l

Some buses are goats./ S T4, IHAT 5|

Some goats are trees./ $© IHAl, US|

Conclusions:/ fAp:

I. Some trees are trains./ Wﬁ@;’, QT-I%I

I1. No bus is train./ 35 a4, ¢ T8l gl

1. If neither Conclusion I nor II follows/af 7 fAsws I T8} IT TR0 63l &
2. If only Conclusion II follows/df¢ %ad FAwwy 11 G@WW%

3. If only Conclusion I follows/afE dad fFsht I &IENTUTW%’

4. If either Conclusion I or II follows/dT dl FT5HY I T7 11 3I¥RYT Hxal §

Correct Answer :-

« If neither Conclusion I nor II follows/af¢ = FhY I T8 11 IR0 H=dl §

52) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,

disregarding commonly known facts./ﬁ?‘fﬂ: ﬁﬁﬁqwmﬁwmqaﬁvm



a1 $© e o e &1 smue! fau T Hy=l &Y ww U | W g a Tagma aal 9 e
Udid g1d 8f | 9} frep st @) ufeu fiee au Fifoe i 2w e eyl # I wi=-ar ey few e
FYAI BT THHTT 3T A ST DT 7, TS T 9 $o W |

Statements: /P Y-:

Some cars are buildings./ $9 R, s'FI'R?r%I

All buildings are trucks./ 94 3URd, T& 1

Some trucks are tins./ P9 ¢P, fea gl

Conclusions:/ frem:

I. Some cars are trucks./ P9 ®R, W?I

I1I. Some tins are trucks./ Wféﬂ, W%’I

1. Only Conclusion I follows/ %ad F&HY I &@TUTWFIT%

2. Either Conclusion I or II follows/dT dl bW I AT 11 WW%
3. Only Conclusion II follows/ dad FT5hY I1 &WW%

4, Both Conclusions I and II foIIow/ﬁ:ﬁﬁW&lﬂﬂTﬂTW%

Correct Answer :-

. Both Conclusions I and II follow/ I fAthS ¥R Hd &

53) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly khown facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ'&T: :ﬂ%mWWﬁW$WGﬁ?W
91 $o e fr e &1 emue! fau T Hy=l &Y T U | Ha g dga aal | A
weita gid gi1 it et 1 ufew fihr au wifsre % faw e et & @ wi9-a1 fsed few 7o
HYI BT AHEITT $U H IR0 AT &, TS TI7d 9 $3 1 g

Statements:/ ®Y:

Some tins are round./ S feq, Ma €1

Some cups are round./ P9 U, Tﬁﬁ%l

Conclusion:/ fAwp:

I. Some tins are cups./ 9 fed, FUF|

II. All rounds are cups./ HmTﬁﬁ,W%I

1. If neither conclusion I nor II follows/ af¢ Ay 1 TV 11 &WU[ER?IT%
2. If only conclusion I follows/ afc dad fspy 1 &HHTUTW-H%

3. If only conclusion II follows/ af¢ %ad A pY II &WW%



4. If either conclusion I or II follows/ af& a1 FHY I AT 1T SIRR0 BT §

Correct Answer :-

« If neither conclusion I nor II follows/ Tfe 7 FASHY I T & 11 SI¥R0 BT §

54) In which year was the Central Province formed?/ %=<1d Uid &1 o+ fbg a9 A
T UT?

1. 1861
2.1863
3.1862
4, 1860

Correct Answer :-

« 1861

55) In which year was the New Bank Note Paper Line Unit inaugurated in

Hoshangabad?/ BIXAETG § 713 8@ e YR ATs gfHe $T 3gure fard avf gam 4r?
1. 2016
2.2014
3.2015

4. 2013

Correct Answer :-
« 2015

56) In which district is the Fair of Dhamoni Urs held?/ Y4TI9 3Y Ad &1 IS
SH-IA R A gare?

1. Sagar/ 9" R

2. Narsinghpur/ TRREIER
3. Mandsaur/ &R

4. Rewa/ 3T

Correct Answer :-

« Sagar/ 9" R



The book ‘Chahar Chaman’ is a history of the rule of - / I8 IU' T&® o
fPad T o1 3faea 82

1. Aurangzeb/ 3RS
2. Shah Jahan/ EYEi
3. Jehangir/ SI8RiR

4, Akbar/ 3R

Correct Answer :-

« Shah Jahan/ Qg5igl

58) At <ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>